Shasta Bike Challenge 2019

Shasta County ranked (National Bike Challenge-May 2019):

- 2nd Nationally for its population size
- 4th Nationally overall
- 3rd largest community in the National Bike Challenge

Totals:

- 786 (203 new riders)
- 51 teams
- 115,928 miles total
- 9,642 trips logged
- 1,458 transport work trips
- 11,311 transport miles to work
- 248 participants on average logged a trip daily
- 31 participants rode every day of Bike Month







Workplace Teams

Top Workplace overall (Large)

• Calfire

Top Workplace (Medium)

• Central Valley Water Board

Top Workplace (Small)

• Lawrence & Associates

Workplace placement overall, Shasta Bike Challenge (top scoring workplace at top of list):

Workplaces (Large)

Name	Total Riders	Average Miles Per Rider	Distance	Day	Total
			Points	Points	Points
Calfire	97	121	11766	9110	20876
Caltrans	57	120	6817	6920	13737
City of Redding	75	90	6733	5640	12373
Dignity Health North State	29	228	6626	2580	9206

Workplaces (Medium)

Name	Total Riders	Average Miles Per Rider	Distance	Day	Total
			Points	Points	Points
Water Cyclers (Central Valley Water Board)	18	234	4217	3430	7647
Shasta Mosquito Vector Control District	14	286	4006	2480	6486
Team NMR (Nicholos, Melburg, & Rossetto)	16	207	3315	1910	5225
Breslauer Bikers and Buddies	16	183	2933	1750	4683
Team DDW (Division of Drinking Water)	12	237	2843	1510	4353
Owens Healthcare	22	119	2619	1680	4299
Whiskeytown Friends & Family	17	114	1930	1600	3530
Jacobs Engineering	20	84	1679	1280	2959
Shasta County HHSA Public Health Branch	17	71	1208	1420	2628
California Department of Fish & Wildlife- Redding Office	9	152	1367	1210	2577
Shasta Community Health Center	13	60	781	1050	1831
Team PACE (PACE Engineering)	10	94	940	860	1800
Remedy Engineering	7	85	594	850	1444
Redding Rancheria	11	40	438	510	948

Workplaces (Small)

Name	Total Riders	Average Miles Per Rider	Distance	Day	Total
			Points	Points	Points
Lawrence & Associates	3	207	622	450	1072
HHSA Office of Director	4	126	504	490	994
Shasta Regional Transportation Agency	3	124	372	220	592
McConnell Foundation	3	67	200	170	370
MD Imaging	3	64	192	130	322
Shasta County HHSA- BSS Bikers & Friends	4	42	168	150	318
Shasta County Office of Education	1	48	48	80	128

Teams

Top Team overall (Large)

• Shasta Wheelmen

Top Team (Medium)

• Heather Saiki Health Insurance Services

Top Team (Small)

• Hammer Family

Team placement overall, Shasta Bike Challenge (top scoring team at top of list):

Teams (Large)

Name	Total Riders	Average Miles Per Rider	Distance	Day	Total
			Points	Points	Points
Shasta Wheelmen	50	375	18763	6020	24783
Chain Ganged Together for Small Businesses	71	198	14035	8850	22885
Shasta Uncorked	20	332	6634	2850	9484

Teams (Medium)

Name	Total Riders	Average Miles Per Rider	Distance	Day	Total
			Points	Points	Points
Heather Saiki Health Insurance Services	6	74	443	540	983
Ride Redding	5	125	626	320	946
Redding Composite/Shasta High School MTB Team	8	64	510	420	930

Teams (Small)

Name	Total Riders	Average Miles Per Rider	Distance	Day	Total
			Points	Points	Points
Hammer Family	3	234	701	500	1201
Friends of Redding Trails	2	294	587	400	987
Racer E and J	1	563	563	130	693
Friends of Woody's Brewing	3	94	282	330	612
Larmor and Friends	4	55.5	218	270	488
Team No Breaks	4	28	112	110	222
Dokken Engineering	1	36.5	36.5	40	76.5
Cassedy Clan	1	18	18	40	58
Redding Parks and Trails Foundation	1	10	10	40	50
The Peddlers	3	3	9	40	49
Carlson Crew	1	21	21	20	41
Grizzly Goat Girls & Boys	1	10.5	10.5	10	20.5
White Glove Chimney	1	5	5	10	15
The Berry's	1	3	3	10	13
Lasson Lincs	1	2	2	10	12

School Teams

Top School overall

• Grant School

Schools

Name	Total Riders	Average Miles Per Rider	Distance	Day	Total
			Points	Points	Points
Grant School Cougars & Friends	19	97	1840	1370	3180
Foothill High School	10	67	670	670	1340
Shasta College	10	1	10	1695	970
Shasta High School	5	85	425	340	765
Chrysalis Charter School	6	50	300	200	500
Manzanita School	2	44.5	89	230	319
Lassen View School	4	16	65	190	255
Burney Elementary	3	1.5	5	30	35
Bella Vista Elementary School	1	3	3	10	13

Bike to School Day

SCHOOL	TOTAL BIKERS
Bella Vista	~40
Bonny View	~35-40
Burney	108
Cypress	26
Happy Valley	~75
Lassen View	75
Redding School of the Arts	127
Turtle Bay	~100
Shasta High	32
Manzanita	39
Chrysalis	~120
Sequoia	30
Junction	~60
Anderson Middle	~50

Congrats to Chrysalis in winning the Bike Blender Smoothie Party!



Bike Blender Smoothie Party
by logging your Bike to School Day trip!
All students will also be entered into a free prize drawing



Top Individual Riders

3k club (3,000 + miles biked)

Gary Nelson (3,980 miles)

1k club (1,000 + miles biked)

Wayne Wilson

DeWayne Little

Darcy Buckalew

Gary Meurer

Scott Small

ShastaPT Marisa

Black Out Riders (Rode all 31 days during Bike Month)

Sue Lennon
Kasey Camp
Kevin Burke
Elizabeth Cifu Shuster
Peter Alexander
Cayton Polen
Al Shabazian
Darcy Buckalew
Melissa Buciak
Nick Misud
James Bennie
Ron Johnson
Tom Balkow
Chris Blevins
Jeremy Pagan
Rob
Stew Engr'g Keith
ShastaPT Andy
FisherEsq Julie
Deena Matagulay
ShastaPT Marisa
Jake Tron
Robert Hart
Rosanne Blevins
Aaron Dobson
Tars Petrie
Hutchins Inc Jeff
Theresa
Katherine Sjoberg
Gary Nelson
Doug Holt

Top Riders Shasta Bike Challenge

(Distance Points + Day Points)

Position	Name	Total Points
1 st	Gary Nelson	4440
2 nd	Jake Tron	1632
3 rd	Deena Matagulay	1608
4 th	DeWayne Little	1588
5 th	Wayne Wilson	1586
6 th	Darcy Buckalew	1556
7 th	Kevin Burke	1527
8 th	Mike Burgess	1517
9 th	Gary Meurer	1507
10 th	Roque Matagulay	1438
11 th	Aaron Williams	1418
12 th	ShastaPT Marisa	1411
13 th	ShastaPT Andy	1346
14 th	Scott Small	1312
15 th	Ron Johnson	1295
16 th	Sue Lennon	1261
17 th	Nick Mifsud	1230
18 th	FisherEsq Julie	1204
19 th	Bruce Boughn	1193
20 th	Kyle Johnson	1162
21 st	James Bennie	1162
22 nd	Kallen Aost	1142
23 rd	Kathy o'hanlon	1125
24 th	Kareem Speake	1117
25 th	Deven Carter	1093

Top Encouragers

Position	Name	People Encouraged
1 st	Jake Tron	12
2 nd	Kevin Burke	7
3 rd	Ron Johnson	7
4 th	Kyle Johnson	7
5 th	Nick Mifsud	6
6 th	Jerry Thacker	6
7 th	Roque Matagulay	6
8 th	Steve P	5
9 th	Mike Burgess	5
10 th	Paige Cibart	5
11 th	Eric Haney	4
12 th	Melissa Buciak	4
13 th	Chain Gang Mitch	4
14 th	Angie Rowe	4
15 th	Deena Matagulay	4

Top Commuter (Most days riding to work)

Position	Name	Days
1 st	Elizabeth Cifu Shuster	25
2 nd	rafael ramirez	24
3 rd	Kathleen Saxer	21
4 th	John Ford	20
5 th	Katherine Sjoberg	20
6 th	Marissa Olsen	20
7 th	Tom March	20
8 th	Anne Ransom	19
9 th	Rosanne Blevins	19
10 th	Mike Burgess	18
11 th	Scott Small	17
12 th	Bryan Gartner	17
13 th	Christopher Needham	17
14 th	Sue Lennon	16
15 th	Michele Benjamin	16
16 th	Larry Bettes	16
17 th	chase warner	16
18 th	Travis Osborne	15
19 th	Davis Crane	15
20 th	Suzanne Akins	15
21 st	Paige Cibart	15
22 nd	Guy C.	14
23 rd	Dave Drewett	14
24 th	Kareem Speake	13
25 th	MurDog J	13
26 th	Melissa Buciak	13
27 th	Cliff Gottlieb	13
28 th	Bosh	13

Top Riders (Most trips)

Position	Name	Trips
1 st	peter alexander	181
2 nd	Deena Matagulay	94
3 rd	Theodore Palfini	90
4 th	Elizabeth Cifu Shuster	84
5 th	Katherine Sjoberg	75
6 th	Michael McRae	71
7 th	Marissa Olsen	69
8 th	Mike Burgess	65
9 th	Melissa Buciak	59
10 th	Kathleen Saxer	58
11 th	sara s	55
12 th	Rosanne Blevins	55
13 th	Dan Jarrett	55
14 th	Sue Lennon	52
15 th	Roque Matagulay	52
16 th	Michele Benjamin	51
17 th	Cayton Polen	49
18 th	chase warner	49
19 th	Davis Crane	48
20 th	Scott Small	47
21 st	Rob D us	47
22 nd	Tom March	47
23 rd	Joe Fernandes	47
24 th	Al Shabazian	46
25 th	Kareem Speake	45
26 th	Kevin Burke	45

Top Male Rider (Most miles)

Position	Name	Miles
1 st	Gary nelson	3,980
2 nd	Wayne Wilson	1,366
3 rd	DeWayne Little	1,238
4 th	Gary Meurer	1,117
5 th	Scott Small	1,012
6 th	Kallen Aost	952
7 th	Aaron Williams	928
8 th	Bruce Boughn	913
9 th	ShastaPT Andy	886
10 th	Mike Burgess	867
11 th	Mark Luker	812
12 th	Kareem Speake	807
13 th	MurDog J	800
14th	Kevin Burke	767
15 th	John Crowe	765
16 th	James Bennie	702
17 th	Roque Matagulay	688
18 th	Casey Kerrigan	647
19 th	Don Rogers	638
20 th	Ron Johnson	635
21 st	Kyle Matti	633
22 nd	Al Shabazian	627
23 rd	IAN Cannar	623
24 th	Jon Andrews	615
25 th	Deven Carter	613

Top Female Rider (Most miles)

Position	Name	Miles
1 st	Darcy Buckalew	1,146
2 nd	ShastaPT Marisa	1,001
3 rd	Deena Matagulay	948
4 th	Sue Lennon	901
5 th	FisherEsq Julie	744
6 th	kathy o'hanlon	705
7 th	Linda Cannar	636
8 th	Katherine Sjoberg	633
9 th	Theresa D us	576
10 th	ShastaPT Wanda	575
11 th	WilliamsEsq Michelle	546
12 th	Elizabeth Cifu Shuster	514
13 th	Harvest Vieira	505
14th	Christie Simms	478
15 th	Shelli Thompson	455
16 th	Rachel Young	435
17 th	Melissa Buciak	430
18 th	Linda La Bella	423
19 th	Jerry Thacker	414
20 th	Jean Fellman	414
21 st	Carrie Johnson	414
22 nd	Nancy Rudd	378
23 rd	Michele Benjamin	376
24 th	Leslie Orr	352
25 th	Sarah Wallace	352

Top Male NEW Rider (Most miles)

Position	Name	Miles	
1 st	Aaron Williams	928	
2 nd	Steve Royce	381	
3 rd	David Mantei	353	
4 th	Doug Holt	323	
5 th	Kyle Johnson	312	
6 th	Bryan Gartner	266	
7 th	William Sutherland	256	
8 th	Bear DeWalt	240	
9 th	don lindsay	206	
10 th	Christopher	198	
	Needham	190	
11 th	Michael Nwobodo	179	
12 th	Robert Hart	172	
13 th	Dylan De León	171	
14th	Brian Thompson	165	
15 th	Alex Shannon	163	
16 th	Curt Babcock	159	
17 th	Michael Collins	153	
18 th	Jeffrey Krantz	151	
19 th	Ryan Cash	145	
20 th	Nolan Randall	134	
21 st	Jonathan Sloat	132	
22 nd	Cecil Rea	115	
23 rd	Jeff Morris	103	
24 th	Roquer Matagulay	97	
25 th	Kevin Garner	84	

Top Female NEW Rider (Most miles)

Position	Name	Miles
1 st	Deena Matagulay	948
2 nd	Williams Michelle	546
3 rd	Marissa Olsen	200
4 th	Amber Kelley	185
5 th	Cheyla Alexander	126
6 th	Paige Cibart	124
7 th	Janet Sloat	119
8 th	Sheila Magladry	86
9 th	Ronica Stinger	73
10 th	Kim Spini	71
11 th	Kiki Jager	66
12 th	Mary Bergeron	62
13 th	Shelly Alexander	61
14th	Natalie Kinney	53
15 th	Mina Hedemark	53
16 th	Shellisa Moore	46
17 th	Hilary R	45
18 th	GennieChristopherson	45
19 th	Heather Gonzales	42
20 th	Ereka Bishop	40
21 st	Kristin Pascal	39
22 nd	Tammy Miller	34
23 rd	Shay Farmer	32
24 th	Danielle Lazarus	32
25 th	Holly Soares	31

Shasta Bike Month & the Shasta Bike Challenge is a collaborative effort of various organizations & volunteers:



















Shasta Bike Month Workgroup:

Cameron Lievense, Healthy Shasta	Peter Alexander, Redding Parks & Trails Foundation	Jack Yerkes, Shasta Wheelmen
Sara Sundquist, Healthy Shasta	Linda Masterson, Redding Parks & Trails Foundation	John Crowe, Shasta Wheelmen
Nicole Lightfoot, Shasta Safe Routes to School	Debbie Burkett, Shasta County HHSA Public Health	Betsy Amstutz, Shasta Community Health Center
Tom Balkow, Caltrans	Stephanie Kvale, Owens	Dan Wayne, Shasta Regional Transportation Agency
Francie Sullivan, City of Redding	Holy Soares, Owens	

^{***}These are the individuals who planned, organized, and implemented Shasta Bike Month.

Shasta Bike Month & Challenge Sponsors:

Redding Parks & Trails	Chain Gang Bike Shop	Shasta Regional	Healthy Shasta
Foundation		Transportation Authority	
Owens Healthcare	Shasta Wheelmen	Sports LTD	Fusion Lounge
Caltrans District 2	REU	The Bike Shop	Redding Rancheria
United Shasta	One Safe Place	Wild Card Brewing Co.	McConnell Foundation
Shasta Family YMCA	Shasta Community Health	City of Redding	Redding Chamber
	Center		
Turtle Bay Exploration Park	Shasta Historical Society	Fall River Brewing	Advance Cycling Education
Shasta County Health &	Shasta Living Streets	Headwaters Adventure	First 5 Shasta
Human Service Agency		Company	
Redding Trail Alliance	Redding Mayor's Mtn Bike	Holiday Market	Jefferson State Adventure
	Challenge		Hub
Rare Air Trampoline Park	Trails & Bikeways Council of	Pedego Redding	Active NorCal
	Greater Redding		
Churn Creek Meadow	Woody's Brewing Co.	RABA	Balance Yoga Center
Organic Farm			
Advance Cycling Education	Shasta Rock Club	Bikes Etc.	

Thank you for participating in the Shasta Bike Challenge. We strive to gather the most accurate results but there is always potential for errors. If you have any questions or comments, please contact shastabikemonth@gmail.com.

